CSE 143, Winter 2009
Sample Midterm Exam #1 Key
1. Two solutions are shown.

public void conpressDuplicates(Stack<lnteger> sg {
Queue<I nteger> q = new Li nkedLi st <I nt eger >(

whi | e (!s.lsEnpt¥§)) {

g. add(s. pop( Il s ->q
while (!q.isEnpt
) s.gugh(q.pgn%Sé%)§; /Il g ->s, to reverse the stack order
while (!s.isEmty()) { Il s ->q¢
+a-addls pop(})
1f (!lg.isEmpty()) { Il q ->s, replacing dupes with (count, val)

int last = q.renove();
int count = 1;
while (1q.isEmpty()) {
int next = q.renove();
if (next == last) {
count ++;
} else {
s. push(count);
s. push(l ast);
count = 1;
| ast = next;

}

s. push(count);
s.BushEIast)?

public void conpressDuplicates(Stack<lnteger> sg {
Queue<l nt eger> g = new Li nkedLi st <l nt eger >(

s2q(s, Q);
g2s(qg, s);
s2q(s, Qq);
if (lqg.isEmpty()) Il q ->s, replacing dupes with (count, val)
int last = q.renove()
int count = 1;
while (Tq.isEmpty()) {
int next = q.renove();
if (next == last) {
count ++;
} else {
s. push(count);
s. push(l ast);
count = 1;
| ast = next;
}
S. push(count);
s.BushEIast)?

public static int countlnAreaCode(Map<String, String> nunbers, String areaCode) {
Set <Stri ng> uni queNunbers = new HashSet <String>();
for (String name : nunbers. keySet ()) {
_ r|nﬁ phoneNunber = nunbers. get (nane);
i f (phoneNunber.startsWth(areaCode)) {
uni queNunber s. add( phoneNunber) ;

return uni queNunbers. si ze();



i st2. next. next next = list; [/ 4 ->1
l'ist.next = Ii st 2; [l 1->2
I!st=I|5t2.next.next; [l list -> 4
list2 = list2. next; [l list2 -> 3
l'ist2. next = null; I 31
list.next.next.next = null; 121
4,
public bool ean isSortedBy(int n) {
if (n <=0
t hrow new I || egal Argunent Exception();
ti st Node currentl = front;
Li st Node current2 = front,;
while (current2 '= null && n > 0) {
current2 = current?2. next;
n--;
while (current2 !'= null)
if (currentl.data > current2.data) ({
return false;
currentl = currentl. next;
current2 = current 2. next;
return true;
5.
Call Value Returned
nystery(7) 8
nystery(42) 53
nyst ery(385) 496
nystery(-790) -801
nyst ery(89294) 90305
6.
public int dlgltlvatch int x, int y) {
if (x <0 |] 8
t hrow new | I I ega Argurrent Except|on()
}else|f8x< |)/<
if (x %10
return 1
} else {
return O;

}
} else if (x % 10 = Mé%lo
) Iret?rn + digitMatch(x / 10, y / 10);
el se
return digitMatch(x / 10, y / 10);



